1 2 3 5 6 Vi 8
PARTS LIST REV|LOC REVISION DATE APPD BY
ITEM | QTY PART NUMBER DESCRIPTION A | ALL RELEASED 2017/04/25 | R.FLAMINIO
1 1 Spacer, Mode Cleaner ME-GW-1704002-A-DWG B
2 1 Curved Mirror Holder, Mode Cleaner ME-GW-1704003-A-DWG g
3 2 Flat Mirror Holder, Mode Cleaner ME-GW-1704004-A-DWG
4 1 Piezo Acuator, Mode Cleaner ME-GW-1704005-A-DWG 309.16
5 1 Cover Panel, Mode Cleaner ME-GW-1704006-A-DWG
6 2 PTFE Sheet, Mode Cleaner ME-GW-1704007-A-DWG
7 1 Base, Mode Cleaner ME-GW-1704008-A-DWG
8 4 ISO 4762 - M4 x 12 Hex Socket Head Cap Screw .
9 6 ISO 4762 - M3 x 12 Hex Socket Head Cap Screw '@_
10 3 ISO 4762 - M3 x 16 Hex Socket Head Cap Screw | 'MW~~~ 7] g_ __________________
11 1 ISO 4762 - M8 x 35 Hex Socket Head Cap Screw !
12 1 ISO 7089 - 8 - 140 HV Plain washers i
=] | M B _-I /@I_I
e AN [ '
b |
X ! 10
= | -
| |
| .
V ) :
b B
B-B(1:2)
145 @ @
290
P, NATIONAL UNLESS OTHERWISE STATED:
NAOJ ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)|  TOLERANCES
rovaNceD TEcHnoIaar cenen. OBSERVATORY OF
IAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT © GW EDGE BREAK 0.2 x 45 (1SO 2768-mH)
DESIGNED : F.URAGUCHI DATE: 2017/03/15 |MATERIAL: INDEF
DRAWN : F.URAGUCHI DATE: 2017/04/21 | FINISH INDEF
CHECKED : Y.OBUCHI DATE: 2017/04/22 | SCALE 1/2 SHEET: 1/2
APPROVED : R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A
ISOMETRIC VIEW (1:3 ) THIRD ANGLE @E} TIME  Mode Cleaner Assembly
PROJECTION DWG. NO. ME-GW-1704001-A-DWG
1 2 7 8

| 6




1 6 Vi 8
REV|LOC REVISION DATE APPD BY
A | ALL RELEASED 2017/04/25 | R.FLAMINIO
B
c A
D
B
281.22
\ 278.1 —
(19 \ ' .
n e Nominal on-axis distance [C
g \ /I / ~ between two flat mirrors
_— N
) <+
—_ K L
—
= L
3
1 A 6 D
Clearance between A'A ( 1 . 1 )
piezo actuator and mounting hole
Clearance between —
beam axis and spacer structure
E
P, NATIONAL UNLESS OTHERWISE STATED:
NAQ| ) ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)|  TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF
JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT @ GW EDGE BREAK 0.2 x 45 (IS0 2768-mH)
DESIGNED : F.URAGUCHI DATE: 2017/03/15 |MATERIAL: INDEF
DRAWN : F.URAGUCHI DATE: 2017/04/21 FINISH : INDEF
CHECKED : y,OBUCHI DATE: 2017/04/22 | SCALE : 1/2 SHEET: 2/2
APPROVED : R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A F

THIRD ANGLE
PROJECTION @ E

TITLE

Mode Cleaner Assembly

DWG. NO. ME-GW-1704001-A-DWG

3 43 5 |

6

7



1 2 3 5 5 / 8
REV|LOC REVISION DATE APPD BY
A | ALL RELEASED 2017/04/25 | R.FLAMINIO
B
c A
D
289.1
3045 L
/ 0
~N — B
< 1 0
wn
_H
N 0
Ra 6.3
A 0.1|A[B|C
\AL/ )
42 260.42 / 0.01[B
D<—>F,
21
60 170 APPLIES BEFORE MACHINING  [C
OF M3x0.5 THREAD HOLES
(REFER TO SHEET 4/6) *1
65+ 2 160+ 2
D
$28.5
—
o
_H [
% ,K\D Q~\'
D D
O Y Z |
LN
&2 E
(AT VERTEX)
@18 /
M
0
@60 -0.5 .
4 NATIONAL UNLESS OTHERWISE STATED:
NA‘| )J ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)| TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF
JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45 (IS0 2768-mH)
DESIGNED : F.URAGUCHI DATE: 2017/03/15 |MATERIAL: 36 INVAR
DRAWN : F.URAGUCHI DATE: 2017/04/19 | FINISH : AS MACHINED
* > B3 (s - CHECKED : Y.OBUCHI _ DATE: 2017/04/22 | SCALE : 1/1  |SHEET: 1/6
1) M3x0.5 (3— h4/62288R) OMIFCERAD & APPROVED . R FLAMINIO DATE. 2017/04/25 |SHEET SIZE + A3 A .
THIRD ANGLE @E} TIMLE  Spacer, Mode Cleaner
PROJECTION DWG. NO. ME-GW-1704002-A-DWG
1 2 3 5 6 7 8



1 , 2 , 3 , 4 ﬂ7 5 , 0 VA 8

REV]|LOC REVISION DATE APPD BY
A |ALL RELEASED 2017/04/25 | R.FLAMINIO
B
C
D

2x M3x0.5 x 10 DEEP
4 x M4x0.7 x 6 DEEP

160 65

12

)

P

\I-’
25

20
30

150 70

3 x M3x0.5 x 10 DEEP
145 EQUALLY SPACED ON @32 P.C.D.

25.2
25

30

Ra3.2

(21)

0.5 H ( 2:1 )
M8x1.25 x 6 DEEP

DO NOT BREAK THROUGH *2 G'G ( 1 . 1 )

NATIONAL UNLESS OTHERWISE STATED:

yd
NA(' JJ AstRoNomICAL  [TA[|DIMENSION ARE MILLIMETERS (MM)]  TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF

JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45° (ISO 2768-mH)

DESIGNED : F.URAGUCHI DATE: 2017/03/15 |MATERIAL: 36 INVAR

DRAWN : F.URAGUCHI DATE: 2017/04/19 | FINISH : AS MACHINED

. CHECKED : : : :
*2) BEAT Y.OBUCHI DATE: 2017/04/22 SCALE 1/1 SHEET: 2/6

APPROVED : R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A

THIRD ANGLE @E TITLE Spacer, Mode Cleaner

PROJECTION DWG. NO. ME-GW-1704002-A-DWG

1 2 3 4 4& 5 | 6 | / | 8




1 4 5 / 8
REV|LOC REVISION DATE APPD BY
A | ALL RELEASED 2017/04/25 | R.FLAMINIO
B
C
D
(288.79)
80-90
m) | ~
- ] @ —Sl——— - — e — e — e ——— -
g |
A | R R N B
} N |
in A o
8 | . Y
7 ’ il
(@15)
@15 @15 278.1
|
ra | FaY - - - - - - - - - - - -
\J | A4
NUYARVY/BY N\
| @15 THRU
22
4 NATIONAL UNLESS OTHERWISE STATED:
NAQ‘) ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)| TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF
JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45 (IS0 2768-mH)
DESIGNED : F.URAGUCHI DATE: 2017/03/15 |MATERIAL: 36 INVAR
DRAWN : F.URAGUCHI DATE: 2017/04/19 | FINISH AS MACHINED
CHECKED : Y.OBUCHI DATE: 2017/04/22 | SCALE 1/1 SHEET: 3/6
APPROVED : R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A
THIRD ANGLE @E TITLE  Spacer, Mode Cleaner
PROJECTION DWG. NO. ME-GW-1704002-A-DWG
1 2 4 6 7 8




1 2 | 3 6 Vi 8
REV|LOC REVISION DATE APPD BY
A | ALL RELEASED 2017/04/25 R.FLAMINIO
B
C
D
BREAK SHARP EDGE AS NEEDED *3
3 x M3x0.5 x 6 DEEP
EQUALLY SPACED
ON @32 P.C.D.
POSITION OF P.C.D. CENTER AT VIEW "J"
IS DEFINED BY DISTANCE FROM THE SURFACE
PERPENDICULAR TO SURFACE "M" AND
TANGENT TO CORNER "R". COMPENSATE
0.12 MM IN CASE PROBED POSITION
IS 4 MM BELOW SURFACE "M" *4
3 x M3x0.5 x 6 DEEP % ¢
EQUALLY SPACED )
ON @32 P.C.D. —K——— -
POSITION OF P.C.D. CENTER AT VIEW "K"
BREAK SHARP EDGE
IS DEFINED BY DISTANCE FROM THE SURFACE A< NEEDED *3
PERPENDICULAR TO SURFACE "N" AND =
TANGENT TO CORNER "R". COMPENSATE
0.12 MM IN CASE PROBED POSITION
IS 4MM BELOW SURFACE "N" *5
4 NATIONAL UNLESS OTHERWISE STATED:
NA«| ) ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)|  TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF MACH'N'G FINISH Ra25 “S B 0419 H
1 e — JAPAN -m
¥3) NUBEZL (1SO 2768-mH)
. PROJECT : GW EDGE BREAK 0.2 x 45
*4) tl_"J"@PCDI:‘:IIE\'{EE(JEM(:EED\DH_T_R‘:iﬁg_éﬁb\B‘;E\UE@: (‘:_o DESIGNED : F URAGUCHI DATE 2017/03/15 MATERIAL 36 |NVAR
MIBRAE T O— T DABHEME D4mMmM TS IIBEDRMERF0.12mmER S, DRAWN : F.URAGUCHI DATE: 2017/04/19 | FINISH : AS MACHINED
. o R CHECKED : Y.OBUCHI DATE: 2017/04/22 | SCALE : 1/1 SHEET : 4/6
*5) B2 —"K'OPCDHIIMIE (FENICEBENDI—F—RICETBIENSHET B &, APPROVED : R.FLAMINIO DATE: 2017?04?25 SHEET SIZE : /13 REV : A/
'fﬁEfﬂUEjD—j@'fﬁED\‘ENJ:O4mm_F73“D7—Ci%’é\@%ﬁIE§(?IO12mm<‘_’_7'd§5° THlRD ANGLE @E TITLE Spacer Mode Cleaner
. 7
PROJECTION DWG. NO. ME-GW-1704002-A-DWG
1 2 3 6 8

’ |




2 , 3 , 4 ﬂ7 5 , 0 7 8

REV|LOC REVISION DATE APPD BY
A |ALL RELEASED 2017/04/25 | R.FLAMINIO
B
C
D

ISOMETRICVIEW (1:1)

NATIONAL UNLESS OTHERWISE STATED:

Vi
NAQ' JJ AsTRONOMICAL  [TAT DIMENSION ARE MILLIMETERS (MM)|  TOLERANCES
ADVANCED TECHNOLOGY CENTER O BSERVATO RY OF

JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45 (ISO 2768-mH)

DESIGNED : F.URAGUCHI DATE: 2017/03/15 |MATERIAL: 36 INVAR

DRAWN @ F.URAGUCHI DATE: 2017/04/19 | FINISH : AS MACHINED

CHECKED : Y.OBUCHI DATE: 2017/04/22 | SCALE : 1/1 SHEET: 5/6

APPROVED : R.FLAMINIO  DATE: 2017/04/25 |SHEET SIZE : A3 REV : A

THIRD ANGLE @E TILE  Spacer, Mode Cleaner
PROJECTION DWG. NO. ME-GW-1704002-A-DWG

2 3 4 4& 5 | 6 | 7 | 8




1 , 2 , 3 , 4 ﬂ7 5 , 0 VA 8

REV]|LOC REVISION DATE APPD BY
A |ALL RELEASED 2017/04/25 | R.FLAMINIO
B
C
D

KEEP OFFCUT OPPQOSITE TO DATUM A
TO BE REUSED FOR "COVER PANEL, MODE CLEANER" *6

4 NATIONAL UNLESS OTHERWISE STATED:
NAQ| )J ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)| TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF
JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45 (IS0 2768-mH)
DESIGNED : F.URAGUCHI  DATE: 2017/03/15 |MATERIAL: 36 INVAR
DRAWN : F.URAGUCHI DATE: 2017/04/19 | FINISH : AS MACHINED
CHECKED : Y, OBUCHI DATE: 2017/04/22 | SCALE : 2/1 SHEET: 6/6
*6) ikt (F—4 LAADKIHE) (F"COVER PANEL, MODE CLEANER"(CEFIE T3 HRET I L APPROVED : R.FLAMINIO  DATE: 2017/04/25 |SHEET SIZE : A3 REV : A
THIRD ANGLE @E TILE - Spacer, Mode Cleaner
PROJECTION DWG. NO. ME-GW-1704002-A-DWG

1 2 3 4 4& 5 | 6 | / 8




| 6

2 3 6 7 8
REV|LOC REVISION DATE APPD BY
A | ALL RELEASED 2017/04/25 R.FLAMINIO
B
C
D
3x $4.2 THRU
ON @35 P.C.D.
ISOMETRICVIEW (2:1)
LN ml/
o ~
|
W2 4[
n ! Nl un
o | G| o
- |
—
\ C1
( . ) P NATIONAL UNLESS OTHERWISE STATED:
NA“J ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)| TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF
JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45 (IS0 2768-mH)
DESIGNED : F.URAGUCHI DATE: 2016/11/28 |MATERIAL: ALUMINUM
DRAWN : F.URAGUCHI DATE: 2016/11/28 | FINISH AS MACHINED
CHECKED : Y.0BUCHI DATE: 2017/04/22 | SCALE 2/1 SHEET: 1/1
APPROVED : R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A
THIRD ANGLE @E TITLE Curved Mirror Holder, Mode Cleaner
PROJECTION DWG. NO. ME-GW-1704003-A-DWG
2 3 7 8




4 6 7 8
REV|LOC REVISION DATE APPD BY
A | ALL RELEASED 2017/04/25 R.FLAMINIO
B
C
D
16
@40
@25.5
PRl
3x $4.2 THRU
ON @32 P.C.D.
ISOMETRICVIEW (2:1)
(#25.5
1 n
~ | N
|
| L]
™~
> | 3 %
|
e : \~
\ C1
4 NATIONAL UNLESS OTHERWISE STATED:
I\IA“) ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)| TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF
JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45 (IS0 2768-mH)
DESIGNED : F.URAGUCHI DATE: 2016/11/28 |MATERIAL: ALUMINUM
DRAWN : F.URAGUCHI DATE: 2016/11/28 | FINISH AS MACHINED
CHECKED : Y.OBUCHI DATE: 2017/04/22 | SCALE 2/1 SHEET: 1/1
APPROVED : R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A
THIRD ANGLE @E TITLE  Flat Mirror Holder, Mode Cleaner
PROJECTION DWG. NO. ME-GW-1704004-A-DWG
4 6 7 8




2 , 3 , 4 Yb 5 , 0 VA 8

REV|LOC REVISION DATE APPD BY
A | ALL RELEASED 2017/04/25 | R.FLAMINIO
B
C
D
30.6
29

27.10-27.14

29

|
T
|
[
|
[
|
[
[
26.3

ISOMETRIC VIEW (2:1)

13.15

NOTE:
- DIMENSIONS ARE ENVELOPE THAT IS OBTAINED BY ACTUAL MEASUREMENT
OF GIVEN PRODUCT, Pl P-025.20H, S/N 216021277. NO NEED TO FABRICATE
(TEGEAMCED < 8. BIEOHKERL)
P, NATIONAL UNLESS OTHERWISE STATED:
NAQ‘ ) ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)|  TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF
IAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45 (1SO 2768-mH)

DESIGNED : F.URAGUCHI DATE: 2017/03/16 |MATERIAL: INDEF

DRAWN : F.URAGUCHI DATE: 2017/03/16 | FINISH : INDEF

CHECKED : Y.OBUCHI DATE: 2017/04/22 | SCALE : 2/1 SHEET: 1/1

APPROVED : R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A

THIRD ANGLE @E TITLE  Pjezo Actuator, Mode Cleaner
PROJECTION DWG. NO. ME-GW-1704005-A-DWG

2 3 4 4& 5 | 6 | / | 8




2 , 3 , 4 ﬂ7 5 , 0 7 8

REV|LOC REVISION DATE APPD BY
A |ALL RELEASED 2017/04/25 | R.FLAMINIO
B
C
D

20

160 5 0
@60 -0.5
A M 41
(% (> ]

N

/1\1
/

N
N
|
]

5
\ 4x 4.2 THRU

NOTE:
- USE OFFCUT FROM "SPACER, MODE CLEANER".
DIRECTION IS DESCRIBED IN DRAWING OF "SPACER, MODE CLEANER"

("SPACER, MODE CLEANER"Dif# & ERAD C &, FEHBREESE)

P, NATIONAL UNLESS OTHERWISE STATED:
NA(‘ ) ASTRONOMICAL  ["ATI DIMENSION ARE MILLIMETERS (MM)]  TOLERANCES
ADVANCED TECHNOLOGY CENTER O BSERVATO RY OF
JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45 (ISO 2768-mH)

DESIGNED : F.URAGUCHI DATE: 2016/11/28 |MATERIAL: 36 INVAR

DRAWN : F.URAGUCHI DATE: 2016/11/28 | FINISH : AS MACHINED

ISOMETRICVIEW (1:1) CHECKED : Y.OBUCHI  DATE: 2017/04/22 | SCALE : 1/1  |SHEET: 1/1

APPROVED : R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A

PROJECTION DWG. NO. ME-GW-1704006-A-DWG

THIRD ANGLE @E} TITLE  Cover Panel, Mode Cleaner
6

2 3 | 4 4& 5 | | 7 | 8




4 6 7 8
REV|LOC REVISION DATE APPD BY
A | ALL RELEASED 2017/04/25 R.FLAMINIO
B
C
D
0.3
@25
Q
f\/
o)
P NATIONAL UNLESS OTHERWISE STATED:
NAQ| ) ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)|  TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF
JAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45° (IS0 2768-mH)
DESIGNED : F.URAGUCHI DATE: 2017/03/16 |MATERIAL: PTFE
DRAWN : F.URAGUCHI DATE: 2017/03/16 | FINISH INDEF
CHECKED : Y,OBUCHI DATE: 2017/04/22 | SCALE 5/1 SHEET: 1/1
APPROVED : R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A
THIRD ANGLE @E TILE  PTFE Sheet, Mode Cleaner
PROJECTION DWG. NO. ME-GW-1704007-A-DWG
4 7 8

| 6




3 4 5 5 YA 8
REv]LoC REVISION DATE | APPD BY
A | ALL RELEASED 2017/04/25 R.FLAMINIO
B
C
D
54
290 Ra 6.3
10
Ra 6.3
0.5 | ]
- - -— - g +-—-—+ %
T © T
7]0.]
145
C0.5 Cl C0.5
]
|
|
\ @9 THRU, C'BORE @18 DEPTH 26
P NATIONAL UNLESS OTHERWISE STATED:
NAQ| ) ASTRONOMICAL ALL DIMENSION ARE MILLIMETERS (MM)|  TOLERANCES
ADVANCED TECHNOLOGY CENTER OBSERVATORY OF
IAPAN MACHINIG FINISH Ra25 JIS B 0419-mH
PROJECT : GW EDGE BREAK 0.2 x 45° (IS0 2768-mH)
DESIGNED : F.URAGUCHI DATE: 2017/04/21 |MATERIAL: ALUMINUM
DRAWN : F.URAGUCHI DATE: 2017/04/21 | FINISH : AS MACHINED
CHECKED : Y.OBUCHI _ DATE: 2017/04/22 | SCALE : 1/1  |SHEET: 1/1
APPROVED © R.FLAMINIO DATE: 2017/04/25 |SHEET SIZE : A3 REV : A
THIRD ANGLE @E TIMLE  Base, Mode Cleaner
PROJECTION DWG. NO. ME-GW-1704008-A-DWG
3 4 6 7 8

° |




